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Data Mining Problem & Model to Use

DM Framework Solution(expected)
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Why Data Mining?
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Expected Result & Business Implication
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Data Mining Term Project Proposal

1. Business Background
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Data Mining Term Project Proposal

3. Data Mining Approach
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Data Mining Term Project Proposal

5. Model to Use
* Data Preprocessing
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How to &4A?
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3. Datamining Problem
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2. Data Mining Problem
Data to be obtained : d=7Z 100082 &5, 22, 7| & 02 H=F2| {|0|H
Data to be needed : 1000 O|A9o| [|O|E|, d=0f Hufjot AL22| H|O|H

Data Mining Framework : Clustering
(k-means clustering using Gower'’s similarity measure)
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